Итоговая контрольная работа 
по английскому языку во 2 классе за 2018-2019 учебный год

1. Прочитай текст и выполни задание к нему.

Iʼm Greg. Iʼm nine. I have got a nice red cat. It can run and jump. But I haven’t got a dog and Iʼm sad. 
This is Rob. He is three. He has got a little yellow fish. The fish is nice. It can swim. Rob is happy. This is Jillian. She has got four little kittens. Jillian is happy too.

Продолжи предложения в соответствии с текстом:

1) Greg has got ….
a) little white kitten      b) nice red cat       c) little red fish
2) It can …. 
a) jump      b) swim       c) run
3) Rob is …. 
a) nine      b) five       c) seven
4) Ron has got …. 
a) nice little kitten      b) big black cat       c) little yellow fish

2. Подумай и выбери верный вариант выражения have got / has got.

1) Peter Pen have got / has got a bicycle and a boat.
2) Mr. Brown and his sister have got / has got a dolphin.
3) They have got / has got a mother, a father and a brother.
4) She have got / has got a fish and four cars.
5) My little brother have got / has got seven planes, one train and five ships.
6) Captain Hook and Smee have got / has got a grandfather and a grandmother.
7) Twins have got / has got a nice ship and a good train.

3. Что умеют или не умеют делать эти животные и птицы?

1) Horses can/canʼt swim.
2) Bears can/canʼt jump high.
3) Birds can/can not sing.
4) Birds can/canʼt fly.
5) Dogs can/canʼt climb trees.
6) Dogs can/can not run fast.
7) Parrots can/canʼt talk (разговаривать).
8) Cats can/canʼt hunt.
9) [bookmark: _GoBack]Fish can/can not fly.

4. Вставьте подходящий оборот.
1) There is / There are а penguin in cold water (вода).
2) There is / There are two pandas on the tree.
3) There is / There are a little elephant in the zoo.
4) There is / There are polar bears in Arctic.
5) There is / There are a giraffe in my garden.

